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What did zero say to eight?



‘We understand, that the children who thrive in maths, flourish because they 

are able to see the pattern and interconnections within the given concept. The 

CPA approach gives all children the opportunity to do this, ensuring that our 

teaching of Maths is equitable. We use effective resources and scaffolding; 

creating many concrete and pictorial opportunities before introducing the 

abstract. This enables the children to build a clearer understanding, connecting 

their knowledge and skills and therefore visualising the problem at hand when 

working in the abstract form.’

Our Culture and Ethos of Maths
‘Understanding of number is a fundamental life skill.  The culture and ethos 

at Leasowes is about breaking the perception of ‘I can’t do maths’, 
converting reluctant mathematicians into resilient and confident learners. 

We incorporate sustained levels of challenge through varied and high-
quality activities with a focus on fluency, reasoning and problem solving to 
meet the goal of ‘True Fluency’. We instil courage and an acceptance that 

challenge is often a necessary step in learning.’ 

‘The Golden Thread’

NUMBER

Leasowes Maths Policy

A skill for 

LIFE!
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MISCONCEPTIONS

3 – 5 = ?







Times Tables

National Curriculum: Year 2 Expectation

• Count in steps of 2, 3 and 5

• Recall and use multiplication and division facts 

for 2, 5, 10 multiplication tables

National Curriculum: Year 3 Expectation

• Recall and use multiplication and division facts 

for 3, 4, 8 multiplication tables

National Curriculum: Year 4 Expectation

• Recall and use multiplication and division facts 

for all multiplication tables to 12x12
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There are:

3 lots of 5, which is:

5 + 5 + 5 = 15, which is:

3 x 5 = 15

There are:

5 lots of 3, which is:

3 + 3 + 3 + 3 + 3 = 15, which is:

5 x 3 = 15

Which means that:

3 x 5 is the same as 5 x 3



5 x 6 = ?



If we shared the pears between 3 friends, that 

would be:

15 ÷ 3 = 5

If we shared the pears between 5 friends, that 

would be:

15 ÷ 5 = 3

Which means that if:

15 ÷ 5 = 3, then 3 x 5 = 15



Things to do away from school …




